

Order Date: 10/12/2022

Internal Tracking No.: PR 39598/PO 23-0001210

**Contractor Info** 

Labatt Food Service 17415995640 4500 Industry Park Dr. San Antonio, TX 78218

(210) 661-4216

Bill To

101 East 15th Street, Room 274 MAIN BUILDING AUSTIN TX 78701

Ship To

Gerard King/ Mandy Frederick **TWC** 512-377-0351/512-377-0381 4800 N Lamar Blvd Austin TX 78756

NOTE TO CONTRACTOR: PLEASE DISCUSS DELIVERY TIMES WITH CONTACTS BELOW

Please Deliver To: Attn. Gerard King/ Mandy Frederick 4800 N Lamar Blvd Austin, TX 78756 512-377-0351/512-377-0381

#### **Disclaimer**

The State of Texas is exempt from all Federal Excise Taxes except as noted in each contract. STATE AND CITY SALES TAX EXEMPTION CERTIFICATE:

> Delivery Date: 10/19/2022 MPN: 3012-8971559 Manufacturer Name: RUDYS

The undersigned claims an exemption from taxes under Texas Tax Code, Section 151.309(4), for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas, or a Texas County, City, Special District, or Other Political Subdivision.

#### Bobby Pounds

#### Texas Comptroller of Public Accounts – Statewide Procurement Division

Agend	<b>с</b> у	ı	Purchaser	Email				Phone
Texas Workforce Commission - 320			Rebecca Stone	rebecca.stone@twc.texas.gov				
Line #	NIGP Code	Commodity Code/ Supplier Part #	ltem		QTY	UOM	Unit Price	Extended Price
1	37560	37560750760	Tortilla, Flour, Pressed, Vinch, 12 Ea, 8/Case, Buy Am Contract: 375-GS Contract Type: Term Delivery ARO (days): 7		1	Case	18.61	\$18.61



Order Date: 10/12/2022

Internal Tracking No.: PR 39598/PO 23-0001210

Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Price
2	38506	38506190453	Breadstick, Garlic, 7-8 inch, Frozen, 120-132 Ea/Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 15026-9240035 Manufacturer Name: MARZETTI	1	CASE	23.22	\$23.22
3	38506	38506520451	Muffin, Blueberry, Small, Frozen, Packed To Cid A-A-20139 Standard; 0g trans fat per serving, Min 2 Oz., 96/case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 8895-8669009 Manufacturer Name: CHEF PIER	1	CASE	29.07	\$29.07
4	38506	38506802008	Tortillas, Flour, Enriched, 6 Inch, Frozen, 24 Ea/Bag, 12/Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 3006-8971585 Manufacturer Name: RUDYS	2	CASE	22.61	\$45.22
5	38542	38542401019	Sausage, Andouille, Rope, N/C, Frozen, 12 Lb Pkg, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 1019-8914137 Manufacturer Name: EDDY DEAUX	2	CASE	43.08	\$86.16
6	38542	38542401435	Pork, Diced Stew, Frozen, Raw, 3/4" to 1" Cubes, Unseasoned, Namp 435, 5 Lb Pkg, 3 Pkg/Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 11435-8911435 Manufacturer Name: DSM PORK	35	LB	2.64	\$92.40



Order Date: 10/12/2022

Internal Tracking No.: PR 39598/PO 23-0001210

Line #	NIGP Code	Commodity Code/ Supplier Part #	ltem	QTY	UOM	Unit Price	Extended Price
7	38542	38542402095	Sandwich Meats, Combo Pack, Vacuum Packed, Turkey Bologna, Ham, Salami, Sliced, Frozen, 1 Lb, 12 Ea/Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 2095-5471052 Manufacturer Name: JENNIE-O	3	CASE	40.09	\$120.27
8	38542	38542402511	Beef, Ground, Bulk Raw, Frozen, Regular Grind, 80/20, Meets The Standards of USDA IMPS No. 136, 10 Lb., Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: D0382BHK-5452511 Manufacturer Name: PACKER	85	LB	2.61	\$221.85
9	38542	38542408616	Bacon Cured, Smoked, Fully Cooked, Apprx. 30 Slices Oven Ready Parchment Paper, Slices Approx 7 In. X 3/4 In., Vacuum Packed, 300 Slices/Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 403108616-8913758 Manufacturer Name: WRIGHT	1	CASE	50.30	\$50.30
10	38544	38544808028	Turkey Ham, Hickory Smoked, Thigh Meat, Frozen, No Binders or Extenders, Fully Cooked, 6 Lb 2/ Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 8028-5474007 Manufacturer Name: JENNIE-O	30	LB	3.11	\$93.30



Order Date: 10/12/2022

Internal Tracking No.: PR 39598/PO 23-0001210

Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Price
11	38547	38547082008	Frankfurter, Breakfast, Pork and Beef Baked in Dough, Fully Cooked, 2 Oz., 80 Ea/Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 2500-8914106 Manufacturer Name: EDDY	2	CASE	38.96	\$77.92
12	38547	38547481705	Enchiladas, Beef, Frozen, 1.75 Oz, 90 Ea/Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 93101-8979140 Manufacturer Name: FERNANDOS	1	CASE	28.90	\$28.90
13	38547	38547485223	Burrito, Beef, Par-Fried In Vegetable Oil, Frozen, Fully Cooked, IQF, 5 Oz., 60/Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 5218-8977707 Manufacturer Name: FERNANDOS	1	CASE	51.43	\$51.43
14	38596	38596450262	Green Beans, Cut 1-1-3/4 Inch, Mixed Sieve, Frozen, 20 Lb Ctr, 1/ Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 007022293433-4541001 Manufacturer Name: STOKELY	2	CASE	18.01	\$36.02
15	38596	38596451963	Corn On Cob, 3 Inch, Golden Yellow Sweet, Frozen, 96/Case, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 47267-9090656 Manufacturer Name: GARDEN FRESH	2	CASE	19.95	\$39.90



Order Date: 10/12/2022

Internal Tracking No.: PR 39598/PO 23-0001210

Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Price
16	38596	38596455063	Green Peas, 3-4 Sieve, Frozen, 20 Lb. Ctr, Buy American Contract: 385-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/19/2022 MPN: 47440-9095622 Manufacturer Name: GARDEN FRESH		CASE	19.82	\$19.82

Total \$1,034.39